AN = G

>

-

FAEE E A A

SH MRS
B 2| (AMR=XIH)
crel: D=2 (S &)
i _ _ AT
S - ZB . CRI(EI) - HIRAY - BES 0] apot Sl o limE=
At =X 14,197,772 14,156,144 41,628
= 3,671,3%4
Xl 1,593,307
= 1,581,759
i 7,351,312
A2 ZH| (A =XI1) 29,690 29,690 0
Jl2&| 29,690 29,690 0
Jl2&| 29,690 29,690 0
201 LBt2Y| 18,890 18,890 0
01 At22teld| 16,390 16,390 0
Ogurrgl| 12,400
0 JIZAIREEY| 00,0002 192! 1,900
0 AFRI1D1 & SMES 9,500,000& 9,500
0 JIEt==EH| 1,000,000& 1,000
O 2HI(M=NTARER)
7,000&%1921%304! 3,990
02 3223l 2,500 2,500 0
O 2222 ¥ MAl 2,500
0 2ER3 = 2,500,0002! 2,500
202 018 10,800 10,800 0
01 =LHOIB| 10,800 10,800 0
O ZoHI(Ss24l) 180,000 & x5 &+ 123 10,800
HEIX A (AR =XI1t) 4,200 4,200 0
PHER2S 4,200 4,200 0
REETE 4,200 4,200 0
203 22 Y| 4,200 4,200 0
VEREEEEESST] 4,200 4,200 0
O BAN2LRFA 350,000&x12& 4,200
SMEARESY 11,101,649 10,642,026 459,623
= 3,108,987
Xl 1,461,307
o= 1,325,881
i 5,205,474
ESIENESE 58,966 60, 166 A1,200
ZESAM+L 2 22 56,950 56,950 0
201 LEr2 2| 2,450 2,450 0
01 AtR2telt] 2,450 2,450 0
O 2HI(2U=NYLER)
7,0002#501+704! 2,450
202 048 12,000 12,000 0

- 375 -



A A=
B MEXARY
cHel: BIHEHTI T A (Erel: &2
- _ _ PlEL=
SN - 3 - SRA(SIH) - MRAY - BES Al Ol] AkoH Z
01 2LHOYI 12,000 12,000
O OH|(BESXY243)
200,000 &+501x 122 12,000
203 F=&H| 4,000 4,000
03 AIBFRARZ=AIH| 4,000 4,000
O BA=K YLET 1,000,002 1,000
O &SR HRFA 1,000,000 1,000
O ARXIZE] AP FX 1,000,000 1,000
O MEAS HEFA 1,000,000& 1,000
206 M= 4| 2,500 2,500
01 MZHl 2,500 2,500
ABHUE 25021+10,0002 2,500
401 AlEHIZLS 36,000 36,000
01 Al&H| 36,000 36,000
O Z51 JISWEHEFLIOH &5
15,000 #2021, 2004 36,000
2R F 2t 2,016 3,216
201 B2 ] 2,016 3,216
02 222 2,016 3,216
O === 2,016
0 35 2Ad ML= 50,0002+ 12& 600
0 MIEER Jl2E IR
65,0002 12& 780
= EF 23,0002+ 12& 276
ESINEE ®123
30,000&+12& 360
SIEINEEFEPNEY 1,627,180 1,646,480
SMAMEEY 979,670 979,670
201 LEr2 2| 1,470 1,470
01 At22teld| 1,470 1,470
O 2= ==3)
7,0002+301x70A! 1,470
202 (44| 9,200 9,200
01 =LHOHI 9,200 9,200
O O1bI(=4iE )
200,000 &*321x12& 7,200
O 018I(= 4 e
100, 000&*221x10& 2,000
303 L&z 5,000 5,000
01 ZA2 5,000 5,000
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SN A=
Ha: METRSY
ol JIEAETHAY (Er9): &)
. , - PSEL= =
S - T B2I(3) - HIRAIY - BAS 0 et e HlRE2
O =ANE ZANS B0t AA2
5,000,002 5,000
401 AlZHIL 20| 964,000 964,000 0
01 AIZH] 960,400 960,400 0
O 8% BLBSH THAY 397,120,008 397,120
O 012 T2 ZHAR  22,000,0008+ 120012 264,000
O =MarE THARY ALY
10,000, 00021%207 2 200,000
O =YZ +2ATH ALY 99,280, 00024 14! 99,280
03 Al &S CHY| 3,600 3,600 0
O S ZS& A 400,000,0002%0.72% 2,880
O =22 ~SATHARY  100,000,0002%0.72% 720
IIEMFES A 445,010 664,310 £219,300
101 Q1218 10,000 10,000 0
04 IRIN22NEES 10,000 10,000 0
O JIENBTH QLA 10,000, 0002 10,000
206 28| 6,010 9,310 £3,300
OTEE] 6,010 9,310 23,300
O J124 #E8 Syl 2 U2
3,50021+ 1,000 3,500
O 124 BSHLH 547 2,510
0 HLI? M| 20,0002 +40S 800
0 HELIR JIHRA 45,00024+20S 90
0 AHAHE AET 13,00021x30% 390
0 HAHLRIE A2T 6,0002+70% 420
207 1Lt 39,000 0 39,000
01 SRS ] 39,000 0 39,000
O 2YZATY EILHAE SAAY
20,000,0002! 20,000
O X2lANE 25 BYUREE HARHLEAA
= 19,000, 0002 19,000
401 Al&EI LS TH| 390,000 645,000 255,000
01 AI&E] 390,000 645,000 255,000
O 1012 18 TLARI(EN 2 ¢3)
15,000, 0002%11S81x 14 165,000
O 1012 18E SKS4A
5,000,00020 114 S 2 55,000
O JtZ+ ¢ A28 AE22l 100,000,008 100,000
SEH 24 B L BHIIAY
50,000,0002! 50,000
O Xelat SR NABASAI 2|
20,000,0002! 20,000
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SA: AR
Bu: ARNRRA
©elr JtEAE A ALY (cHel:&J)
. , - PSEL= =
S - T B2I(3) - HIRAIY - BAS 0 et e HlRE2
A SAMALFE 2,500 2,500 0
201 LEr2 2| 2,500 2,500 0
03 A2 G| 2,500 2,500 0
O AlSLARS 2,500,000& 2,500
S ZEAHS 200,000 0 200,000
307 SI2H01 ™ 30,000 0 30,000
04 DIZISHALAIRI 2 T 30,000 0 30,000
O 2t 2EH =& 30,000,000& 30,000
401 AlEHIZL 048I 170,000 0 170,000
01 Al&HI 170,000 0 170,000
O Xt& =iia FZ2e|Ary 100,000,000& 100,000
O Z0HeH HIA RRE=AMY 50,000,000& 50,000
O Z0Har EXIE HHIAM 20,000,000& 20,000
ENEPN S 549,165 651,574 A102,409
= 262,121
& 86,125
= 200,919
ZTEAIL X 549,165 651,574 A 102,409
= 262,121
L= 86,125
i 200,919
401 AIEHIZL S008I 296,190 299,193 23,003
= 116,846
& 53,800
= 125,544
01 AlEHI 274,973 274,669 304
AFTHOH Y X =& (22ha) 128,959, 000& 128,959
= 32,311
& 28,997
= 67,651
O 2uRE=2l(10ha) 146,014,000 146,014
= 72,353
T 22,099
= 51,562
02 Zeltl 18,720 22,533 23,813
O Z=g4&AH2elbl(32ha) 18,720,000& 18,720
= 11,232
& 2,240
i 5,248
03 A& 2,497 1,991 506
O SHETHOHE RIS FOHH] 1,171,000& 1,171
= 293
= 263
o 615
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S A
K| ZH -
(=

&l

A 1

oV O g

>4
H &
0x

[ o -

0
T
[pal
0

S - BB () - HRAY - BaES

=
12

Sl

[yl

ol &k

HIWES

0

O 2P 39EE

1,326,000

HH W

1,326
657
201
468

M

252,975

145,275
32,325
75,375

352,381

A99,406

252,975,000

o

252,975

252,975
145,275
32,325
75,375

352,381

99,406

SEEEEE

M H A

—_

,010,000

300,000
290,000
420,000

—y

,502,000

492,000

L
0>
I
-
Sl
ut
U=
il
0r0
i
I
[0

0x

M H

100,000

30,000
70,000

500,000

A400,000

401 AIEHIL 200

M

100,000

30,000
70,000

500,000

400,000

01 Al&H]

100,000,000&

M H

100,000

100,000

30,000
70,000

500,000

400,000

H

310,000

170,000
140,000

402,000

292,000

401 AlEHIZL 200

M

310,000

170,000
140,000

402,000

/92,000

01 Al&H]

O sMASAA

O XSS AAIS

110,000,000

H‘]

200,000,000&

M H

310,000

110,000
110,000
200,000

60,000
140,000

402,000

292,000

BUN Rl

600,000

300,000
90,000
210,000

600,000

401 AIZHIZ S0

M=

600,000

300,000
90,000
210,000

600,000
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2A:
I‘iiH:
e

e
ARITIS A
S ECERES

Kl

0
0
[l
0

S J . C(FH) - N

Ar -

=
12

PolEL=

[yl

ol&rey

HIWES

0

01 Al&ZH]

O ZAls A

03 AIZ2=R0Hd|

O TAl= ZEAMY 20

600,000,000& *0.63%

59,220,000

M=

M=

59,220

596,220
298,110
89,433
208,677
3,780

3,780
1,890

567
1,323

596,220

3,780

IHIIAE X1

HoH

3,482,707

1,751,254
516,243
1,215,210

3,621,364

138,657

IHERIIANE X1

MW

2,418,287

1,210,044
362,282
845,961

2,536,944

118,657

101 21244

H W

30,838

15,423
4,622
10,793

33,708

N2,870

04 JIZHN22 XS E

O &HEIRAXZA

tEH(221)

30,838,000

Ao A

30,838

30,838
15,423

4,622
10,793

33,708

N2,870

201 &gt

['U:

H0
02

a]]

H

1,783
1,783

1,783

01 AtR-2teld
O &+

o

A RAE WS

Mol

i

Bl

1,783,000&

H

1,783

1,783
1,783

1,783

401 AlEHIZL 00|

U R

2,384,450

1,192,230
357,478
834,742

2,465,236

80,786

Al&H|
O HAZINE(450ha)

O =50tH21(450na)

O H2ILFRI+31I1(100ha)

785,625,000

785,625,000

135,299,000&

M

HH

2,248,014

785,625
392,813
117,765
275,047
785,625
392,813
117,765
275,047
135,299

2,380,539

A132,525
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A AE=XID
PN SPIENE P
Sl =IRIIAME K& (cHel:&J)
- _ _ po[E e
S - T B2I(3) - HIRAIY - BAS 0 et e HlRE2
= 67,650
= 20,281
= 47,368
O 4=2H>1(100ha) 114,504,000& 114,504
= 57,253
& 17,164
= 40,087
O ZH121(400na) 426,961,000& 426,961
= 213,480
& 64,045
= 149,436
02 2elbl 120,000 68,284 51,716
O &HEIHeF2eldl(450na) 30,000,000& 30,000
= 15,000
== 4,500
= 10,500
O 04171 22ldl(450na) 30,000,000& 30,000
= 15,000
< 4,500
= 10,500
O EHIDI12elB1(400ha) 60,000,000& 60,000
= 30,000
& 8,994
= 21,006
03 AlE=20Hd| 16,436 16,413 23
O HAINSR0YI 5,335,000& 5,335
= 2,668
& 800
o 1,867
O =500 1= CHeI 5,335,000& 5,335
= 2,668
== 800
o 1,867
O HEUSRIHRIIAI 2] 981,000& 981
= 491
= 147
= 343
O 9=HHAIL =201 830,000& 830
= 416
& 124
o 290
O ZHIPIAISE 20| 3,155,000& 3,155
= 1,578
= 473
= 1,104
O AEXFRATAIE 20| 800,000& 800
= 400
& 120
i 280
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2A:
I‘iiH:
e

IHRIIANE X

o
$
P
rio

- SRU(EH) - MRAY - BES

=
12

Sl

[ T

ol&rey

HIWES

0

402 212HX=01

HH W

1,216

608
182
426

38,000

N36,784

%14 (80ha) 1,216,000

HH W

1,216

1,216
608
182
426

38,000

N\36,784

HH

1,054,420

541,210
153,961
359,249

1,054,420

101 21244

H A

897,244

430,122
140, 136
326,986

897,244

04 JItN22 XS24
_/'\_

OAIZHI0| 20 AT 2 QI24H|(70Y)

897,244,000

H A

897,244

897,244
430,122
140,136
326,986

897,244

MW

29,000

28,000
300
700

29,000

28,000,000

O&HEHI0I20HA AP

Iy 282

1,000,000

H

M

28,000

28,000
28,000
1,000

1,000

300
700

28,000

1,000

401 AIEHIZ S0

M

91,176

46,088
13,525
31,563

91,176

03 Al =0

OLSHIOI 20 A EE SO
91,176,000&

M H |

91,176

91,176
46,088
13,525
31,563

91,176

402 Q12HXH=01

W

37,000
37,000

37,000
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S A

AR =TI ot
LI
Sl FOFIIAE X2 (erl: &g
. , - PSEL= =
SA - FB . S2(3H) - MRAY - BES ofl by Gl Arod CImE==h
02 QIZHCHEEAIS I 37,000 37,000 0
OLHIBI0I DA ol
37,000,000& 37,000
= 37,000
SMESEFSHN RAIAS 10,000 30,000 220,000
201 LEH2 | 10,000 30,000 220,000
01 At22teld| 10,000 30,000 220,000
ONEELE T bl 72!
10,000,000& 10,000
INSEIESEPN TIPS 71,376 71,328 48
= 35,688
& 10,706
2 24,982
ARINHIAST 71,376 71,328 48
= 35,688
= 10,706
= 24,982
101 @124 71,376 71,328 48
= 35,688
& 10,706
2 24,982
APIETEEDU=TE 71,376 71,328 48
O =2ZHMEXISAH1Y) 14,304,000 14,304
= 7,152
< 2,146
i 5,006
O EA=XZel# (1Y) 14,304,000& 14,304
= 7,152
= 2,146
2 5,006
O =ol&IH(1Y) 14,256,000& 14,256
= 7,128
< 2,138
i 4,990
O =4efatelel(2el 28,512,000& 28,512
= 14,256
= 4,276
s 9,980
AT 1,006,043 1,026,043 220,000
Xl 461,307
= 98,852
= 445,884
SH&E JHEEH| 215,472 225,472 210,000
201 24| 15,472 35,472 220,000
01 At22teld| 4,372 24,372 220,000
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S A
K| ZH -
(=

&l

[
$
P
rio

- < - PSEL ~
S - T B2I(3) - HIRAIY - BAS 0 et e HlRE2
O =diZ JdE =g=E7d
50,0002+ 128 1,800
O SHALHHME 2012l 23
66,0002 122 1,872
O SHZ PIXEOI(0I021) RAI 2B
100, 00024+7CH 700
02 22| 1,100 1,100 0
O SHULFUE 2| 6,900
0 SALHHMEl HIIRS  380,000&122 3,960
0 SHUCHHME H5I=E23
20,0002 122 240
0 SHUCHHME SRS 150,008+ 122 1,800
0 SHUCHHME] L] 100, 000258 500
0 S22 2013 FEERMLIH|
100, 00021 #47H 400
O S4H2 PIXEOoI(0I0121) ®IIL3
50, 000247 CH+ 122 4,200
401 AlEBILSCHY| 200,000 190,000 0,000
01 AlEH] 200,000 189,460 10,540
O S ZHDI(272km) 30,000, 0002 30,000
O SHZY0IFEY| 20,000, 0002 20,000
O THUSHRIHIAY 150,000, 0002! 50,000
ATAIRI2 659,011 659,011 0
X 461,307
= 98,852
2 %, 852
101 2121 23,307 23,307 0
X 16,377
= 3,510
2 3,510
USEIEED=T=ES 23,397 23,397 0
O Y22l (3) 23,397, 00021 23,307
X 16,377
= 3,510
2 3,510
401 AlEBILSCHY| 63,614 635,614 0
X 444,930
< %, 342
2 %342
01 AlEH] 631,614 631,698 ~84
O ATAILARI(RHIY T Okn)
218,746, 0002 218,746
X 153, 122
= 3,812
2 32,812
O ZiTAIE(2.0kn) 269,976, 0002! 269,976
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SN ME=XID
BE: NS
cHel: ATAIM (Sr9): 1)
- _ _ PlEL=
S - ZE - SI(SIH) - HRAIY - BAS 0] apot Sl o HlRE2
N 788,957
= 40,496
2 40,496
O UETEMZFAR(1.0kn) 66,611,0002 66,611
X 46,627
= 9,902
= 9,992
O YT AR (15Kn) 63,500,0002 63,500
X 44,480
= 9,525
2 9,525
O AFEEHHI(1.0Kn) 12,781,002 12,781
X 8,047
= 1,917
2 1,917
03 Al&=2CHE| 4,000 3,916 84
O YA 2CHY| 4,000,002 4,000
X 2,800
= 600
2 600
ATHE U RA2S 131,560 141,560 210,000
201 Yty 1,960 1,960 0
01 AF= 22l 1,960 1,960 0
O SI(ATR2 YREX)
7,0002421x704! 1,960
202 it 9,600 9,600 0
01 =LHOIH| 9,600 9,600 0
O OlHI(&RIZE] YRER)
200,00021+4014 122 9,600
401 AIZBIZ 2T 120,000 130,000 210,000
01 A&t 120,000 130,000 A10,000
O LE|XBHAY 30,000, 0002 *4kn 120,000
EYTEE 614,350 379,150 235,200
2 176,000
= 41,400
2 396,950
S8 Ma XA 200,000 200,000 0
402 RIRER=0|H 200,000 200,000 0
01 S EARER 200,000 200,000 0
OSY 4TS (SUALRAS 28)
200,000,0002 200,000
B3P YRS 174,000 174,000 0
2 76,000
= 29,400
2 68,600

- 385 -




sy SN ==\ Inl}
H: MRITRISY
el 2ol XI (&2 ML)
- _ _ N =
2 - F3® - H2A(ZH) - HI2AY - HES 04| AroH ‘Oﬂ,‘;ou Hns2
402 QIZHX=0|H™ 174,000 174,000 0
= 76,000
[= 29,400
= 68,600
01 DIZIXH2AIHE X 174,000 174,000 0
O AZIHIOI QDI AAI (FEIRBIZISY)
220,000, 000 *70% 154,000
= 66,000
[ 26,400
= 61,600
O AFIHIOIQDHAAF (F=CIEHOIAI L )
20,000,000 20,000
= 10,000
[= 3,000
= 7,000
STHMAD PR A 350 350 0
202 OdH| 350 350 0
01 204l 350 350 0
O=SMHE&22|(7A) 350,000 350
SUMARI|H IO AIEINS ALY 100,000 0 100,000
402 QIZHRR0|H 100,000 0 100,000
01 DIZEXHEAIHE X 100,000 0 100,000
OSeAA= JIHRHR! Al&IHE ALY
100,000,000 100,000
STHAL Al SITHSIAL 140,000 0 140,000
= 100,000
[= 12,000
= 28,000
402 DIERH20| ™ 140,000 0 140,000
= 100,000
[= 12,000
= 28,000
01 BIZIXH2AIHE X 140,000 0 140,000
O 2TAAIE HIHSIALY
200,000, 0002 *70% 140,000
= 100,000
[= 12,000
= 28,000
AUMSAETIR 2,403,686 1,415,763 987,923
= 804,343
Xl 700,000
[= 269,803
= 629,540
MRS 610,400 422,362 188,038
= 305,200
[= 91,560
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S A

A=
H: MRATRISY
SR AMSASIIR (St &)
- _ _ pSIE [
2A -3 - H2(3H) - HEAY - BES 04| AroH @Eiﬁ Hnsz2
= 213,640
402 QIERIE0|™ 610,400 422 362 188,038
= 305,200
[ 91,560
= 213,640
01 DIZEX=AIE 2 610,400 422 362 188,038
O UASAESIXIK(LE (2400 A)
230,400,000& 230,400
= 115,200
[= 34,560
= 80,640
O UAMSAESIXA(BEEHS)2IHA
48,000,0002 48,000
= 24,000
[ 7,200
= 16,800
O LASIERIA(17TH) 68,000,000 68,000
= 34,000
[ 10,200
= 23,800
O a2 ME L HAZAIE(11HA)
264,000,000 264,000
= 132,000
[ 39,600
= 92,400
AUAS ASKIR 813,286 293,401 519,885
= 499, 143
[= 9,243
= 219,900
402 QIER=0| ™ 813,286 293,401 519,885
= 499, 143
< 94,243
= 219,900
01 DIZEXH2AIE 2 X 813,286 293,401 519,885
O AFUAMADHEEOIHI = (100 A)
50,000,000 50,000
= 20,000
[ 9,000
= 21,000
O EDTHHHAIEZ(7oHA) 122,632,000 122,632
= 61,316
[ 18,395
= 42,921
O QSIS MACHRZA (122HA)
62,320,000 62,320
= 31,160
[ 9,348
= 21,812
O AFRIZISMACHT RS (22 AN, 2004 )
555,000,000 555,000
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SN ME=XID
Ba: MNRIX

[
$
P
rio

S - BB () - HRAY - BaES

Sl

[yl

ol &k

HIWES

0

ERINLIQPIENY

M

23,334,000

MW

370,000
55,500
129,500

23,334
16,667
2,000
4,667

rz
03
o
0¥
02
o
for
=
11

M H =

980,000

700,000
84,000
196,000

700,000

280,000

402 Q12tXH=01H

M

980,000

700,000
84,000
196,000

700,000

280,000

980,000,000

M

980,000

980,000
700,000

84,000
196,000

700,000

280,000

H

147,306

79,581
12,752
54,973

134,288

13,018

25,200

75,200

/50,000

25,200

75,200

/50,000

RIAFE X2

0

21,000& = 1,200ha * 13

25,200

25,200

75,200

250,000

M

122,106

79,581
12,752
29,773

59,088

63,018

M

122,106

79,581
12,752
29,773

59,088

63,018

6,202,000

H A

63,000,000

U

122,106

6,202
3,101
930
2,171
63,000
42,000
6,300
14,700

59,088

63,018
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A ARISXID
=N R
ol ARIAS A (E491: &)
. , - PSEL= =
SN - 3 - SRA(SIH) - MRAY - BES Oll &+t Ol] AkoH Hws2
O 2 NASTEEl NA(50)  14,000,0002 14,000
2 7,000
= 2,100
2 4,900
O g =2 ALK (5kn) 10,000,000 10,000
2 5,000
= 1,500
2 3,500
O SLIPELIN2H(64ha) 28,904, 0002 28,904
=2 22,480
= 1,922
2 4,502
ANZ REXIR 130,870 133,870 23,000
MEASTR 59,870 58,870 1,000
201 LBr2 | 3,670 36,670 0
01 AR 22l 32,670 32,670 0
O uragt| 1,200
0 YA BLE 2ISUHE
2,0000H%6002 125 1,200
O SEHI(MEASADEX)
7,00021%3214704] 1,470
O R0 2|(ZT442 L BBOTY S
2H1) 30,000, 0002 30,000
03 A2 | 4,000 4,000 0
O YASTAITY BAROH(SR, 243IS)
2,000,0002 * 23] 4,000
202 014 10,200 9,200 1,000
01 =LHoid| 10,200 9,200 1,000
O OHI(AHEASARAH)
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